Sri Guru Harkrishan Public School, Ludhiana

Class-VII Time- 1.5 hrs.
Subject- English Max. Marks-40
Session-2022-23

Section-A (Reading)

Q1. Read the passage and answer the following questions. S marks

1. Animals can go for weeks without food and for days without water. But without
oxygen they die in a few minutes. Oxygen is a chemical element. It is the most
abundant element on earth and it is all around you. It makes up about one -fifth
of the air(rest of the air is nitrogen.)

2. Oxygen combines with almost all other elements in living creatures oxygen is combined
with hydrogen carbon and other substances in a human being it accounts for 2/3
of the body weight at normal temperature oxygen combines with other elements very
slowly. When oxygen combines with other elements new substances, call oxides are

formed. The combining process is called oxidation oxidation goes on all the time in living

creatures. Food is the fuel of living cells. As food is oxidised, energy is released. This
energy is used for moving the body and for building new body substances the slow
oxidation in living creatures is often called internal respiration.

3. In man, oxygen is breathed in through the lungs. From the lungs oxygen passes into

the blood and is carried to all parts of the body. The breathing process supplies the cells

with oxygen for respiration. So we need oxygen for the energy to keep the body
functioning. People who have trouble in breathing are often placed in oxygen tents. Here
the patients breath In air that is from 40 to 50% oxygen. The patient thus uses little energy
to get the oxygen he needs.

4.While oxygen is continuously being removed from the air, the supply of oxygen never
seems to get used up. Plants give off oxygen as they make food and this helps keep up the
supply of oxygen.

a.What kind of element is oxygen?

b.Why food is called the fuel of living cells?

c. What is the use of oxygen tents?

d. The slow oxidation in living creatures is called ?

e. Find antonym of “Collect™ (para 4)

Section- B (Writing and Grammar)




Q2. Suppose you are Arun Singh from Mayor World School, Jalandhar. You study in class
VII-G. Write an application to the Principal for complaining about un-hygienic conditions
of toilets in your school. 4 marks

Q3. You are Kiran/Karan, school captain of Kabir Model school, Rohtak. Write a notice
informing the students about a debate competition to be held on 22" December.
4 marks

Q4. Do as directed 8 marks
(1) Circle the adverbs and state their kind.
(a) We were sitting outside.
(b) When did the flight land?
(i) Fill in the blanks with the present Perfect Tense/Present Continuous Tense form of the
verbs given in the brackets

(a) My friend his purse. ( lose)

(b) The dog is its tail. (wag)

(i11) Fill in the blanks with a modal verbs from the brackets.
(a) You regret this. (May/ shall)

(b) He take rest if he is tired. (would/ can)

(iv) Fill in the blanks with a, an or the where ever required.
(a) house has not been white washed for long.
(b) Today hen laid eggs in the garden.

SECTION-C (Literature)
QS.Read the extract and answer the following questions: 3 marks
‘Never saw I, never felt, a calm so deep’
The river glideth at his own sweet will:
Dear God The very houses seem asleep;
And all that mighty heart is lying still
(a) Name of the poem and the poet.
(b) What do you understand by “Mighty heart is lying still”
(c) Write the meaning of glideth.

Q6. Write the answers of the following questions ( any four) 8 marks
(a) Who found the blue diamond and where?
(b) What is meant by houses seem asleep?
(c) Where did Roxy and his parents live?

(d) How did the poet feel in the company of the daffodils?
(e) According to Mama Dinosaur, What happened to the trees?
(f) Where did James Ryder hide the blue carbuncle after stealing it?

Q7. Write the meaning of following words: (any four) 4 marks
(a) steep
(b) deduced
(c) bliss
(d) flocked
(e) bare
(f) amazed

Q8. Write the answers of the following questions in 30-40 words. (any one) 4 marks
(a) Why did Ryder fall on his knees in front of Holmes?
(b) How did the engine driver try to drive away Roxy from the railway tracks?
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Class = Vil

History

1. Choose the correct option.

14M

A. A notable feature of 16" century was the growth of in various parts of the

country
i. Cities ii. Towns iii. Villages iv. None of these
B. The varna rules were prescribed by
i. Gonds ii. Brahmanas iii. Bhils iv. None of these
2. Who ranked highest among the varnas?
3. Where textiles from Gujarat were exported to?
4. Who are the tribals? Name some of the important tribes in India.
5. How was the economy of India during the sultanate period?
Geography
1. Choose the correct option
A. The average salinity of seawater is
i.35/1000 ii. 38/1000 iii. 39/1000 iv. 30/1000
B. Which of the following cities is an example of a religious town?
i. Delhi ii. Haridwar iii. Roorkee iv. Vishakhapatnam
2. About what percentage of the earth is covered by land?
i.29% ii. 28% iii. 21% iv. 27%
3. Define Ocean Currents.
4. What are the various types of settlement
5. Differentiate between land transport and water transport.
Civics
1. Blanks
of India gave women equal rights with men.

2. Choose the correct option.

a. Print Media include.

i Newspapers ii. Magazines iii. Journals iv. All of these
What do you mean by media?

What do you mean by SEWA?

What is the Public option? How does the media create it?

o v A~ W

What are the barriers to self-employed women?

2x2 =4
3M
4M

2x2 =4

2x2 =4
3M
4M
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Sri Guru Harkrishan Public School
paper — Math Class -7
Part A

M.M - 40

One mark questions: -
1. Find the complement of 67°.
2. Is (8, 15, 17) is Pythagorean triplets?
3 Find the circumference if radius is 21cm.
4. Area of triangle =% X x height.
5. Find the area of circle whose diameter is 20cm?

6. (Hypotenuse)’= (Base)” + ( )
Part B

I3

Two marks question: -
7. Find the value of x: -

40m 41m
8. Are 4 cm, 9cm, and 5cm can be possible length of a triangle?

9. List all pairs of angles that fits the description: -
Corresponding angles
Alternate exterior

Alternate interior
Co —interior angle

i.
ii.
iii.
iv.

10. Find the radius of wheel if its circumference is 356 cm?
70°

11. Find the value of x from figure: - /A\
-10°
50° a2

Part-C
I, Three marks question: -
12. A 15 m long ladder reached the window 12m high from ground on placing it
against a wall. Find the distance of the foot of the ladder from the wall?

13. Find the value of f(*zrom figure: -
0

¥
i 5 150

14. Find value of x, y and z from the figure: -
53 5
z

15. A parallelogram has height 5.6m and area 70m°Find the length of its base?
Part-D

IV. Four marks question: -
16, A door of length 2m and breadth 1m is fitted in a wall. The length of the wall is

4.5m and breadth is 3.6m. Find the cost of white washing the wall, if the rate of

white washing the wall is Rs 20 per m?,
17. A verandah of width 2.25m is constructed all-along outside a room which is

5.5mlong and 4m. Wide: -

i. Find the area of verandah.
The cost of the cemetery the floor of the verandah at the rate of its 200 per

ii.
m-
18. The diagonal of the rhombus measure 16cm and 30cm. find its perim
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Science Assignment

Class 7

Q1 What practices should be followed to maintain sanitation at public places?
Q2 What is meant by Waste water treatment plant?

Q3 What is eutrophication?

Q4 Here is a crossword puzzle: Good luck!

Across

3. Liquid waste products

4. Solid waste extracted in sewage treatment
6. A word related to hygiene

8. Waste matter discharged from human body

Down

1. Used water

2. A pipe carrying sewage

5. Micro-organisms which causes cholera

7. A chemical to disinfect water



Sri Guru Harkrishan Public school. MM 40

Class 7 Subject-science Time- 2hr

each question carry One mark (1D

1. humidity is measured of

(a) temperature (b) pressure (¢) Moisture (d) Wind

2. blood is carried towards heart by

(a) Arteries (b) Veins (c) capillaries (d) muscles

3. The topmost layer of a forest is

(a) Forest floor (b) canopy (c¢) Understory (d) Herb layer

4. Deforestation leads to a decrease in

(a) Rainfall (b) Pressure (¢) Temperature (d) Wind

5. kidney contain __ which acts as a filter.

6. ___ play amajor role in a blood clotting

7. Atoucan has along _ toreach the food.

8. Forestserve asa __ lungs in nature.

9.  forest must be protected from insects and pets (T/F)

10. Arteries carry blood from heart.(T/F)

11. Polar bears have no sense of smell( T'F)

Each question carry 2 marks (10)

1. what kind of climate do we observe in (a) the himalayan region (b)the Thar desert (c)
Meghalaya?

2. Why there is dark inside the forest?

3. what s the size of human heart and function of septum in the heart?
4. Name the waste product excreted by (a) large intestine (b) lungs.

5. What is migration?

Each question carry 3 marks 9

1. How do elephants keep themselves cool in a hot and humid climate?
2. what is blood? what are its two? Components?

3. What are decomposers?

each question carry five marks (10)

1. What are the ways to conserve Forest?

¢i®

2. Explain the process and label the following diagram ’



Q5 Look at the figure given below and answer the following questions

bertisrranrrresirirveliiiva s et iIANIVIY YRS
|

: IS

J

(a)Which one is the stronger magnet among the fig. 1 & 2 given above and why?
(b)why do we use iron for making an electromagnet and not steel?

(ii)

Explain and label both the diagrams
3. Solve the December test question paper on your assignment sheets.
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Q1.
Q2.
Q3.
Q4.
Q5.
Q6.
Q7.
Q8.
Q9.

CLASS - VI

15T ASSIGNMENT BASED ON COMPUTER
Name any two types of filters in MS-Excel.
Werite any two Anti-virus Software.
What is the Full form of WWW.
Name the shortcut key to print a worksheet.
List any five characteristics of a computer.
What is Internet.
What is Mail-merge.
Name any two types of cells referencing.

What is a Control box.

Q10.What is a Hyperlink.



ASSIGNMENT -2
Q-1 How do you open MS word?
Q-2 Give terms used by MS word. What is extension of file in MS-Word?
Q-3 Which storage device is internal part of computer?
Q-4 Where a computer stores its Data?
Q-5 Write name of different types of key on keyboard?
Q-6 Explain input and output units?
Q-7 What is the full form of ROM?
Q-8 Define DVD?
Q-9Unscramble words: - ATBLE,ENMV
Q-10 Write full form of CPU?



CLASS VIII
15T ASSIGMENT BASED ON COMPUTER
Q1. Write different types of charts available in MS-Excel.
Q2. What are the three main stages of mail merge.

Q3. List some of the shortcut keys to insert special characters to the word
document.

Q4. What is antivirus?
Q5. What are Headers and Footers?
Q6. Write the shortcut of-:
a) To bold the Text b) To save a document
Q7. List various components of a database?
Q8. Name the top most bar in the Notepad window.
Q9. Name the bar that has buttons like file, Edit, Help etc.

Q10. Write the steps to open the Notepad.



Il ASSIGNMENT

Q1. What is control panel.
Q2. How is Internet used in the field of education.
Q3. What is the full form of HTTP.
Q4. What is the extension of MS-Excel.
Q5. Write the steps to buy online tickets.
Q6.What are the different fields where computers are used.
Q7. Write keyboard shortcuts for the following.

a) To open adocument b) To Print a document
Q8. Write the full form of ALU.
Q9. Which Computer is used in Weather forecasting.
Q10. Define Software.






